| 7 |

3" 4-40 Machine Screw (4)

2" 4-40 Nylon Machine Screw

Top Panel

1" Spacer (4)

P2EVAL Board, not included

Edge Brace (4)

Side Panel (4)

3" 4-40 Hex Standoff (4)

50mm Fan

1" Spacer (4)

Bottom Panel

Adhesive Rubber Feet (4)

1" 4-40 Machine Screw (4)

Assembly Instructions

Remove protective paper backing
from all acrylic parts, warming them
with a hair dryer will make paper
removal easier.

Attach the four rubber feet onto the
bottom acrylic panel.

Assemble the % hex standoffs, Fan

and }1 spacers to the bottom panel B
using the 1" long 4-40 screws.

Join the four edge braces to the side
panels by pressing into place, make
sure they are fully seated. |
Join the four side panels to the bottom
panel,make sure they are fully seated.
Place the P2 Eval Board on top of the
edge braces. c

Attach the top acrylic panel.

insert each }1" spacer between the top

panel and the P2EVAL Board and
fasten with a 7" machine screw. —

Thread in the 15" nylon screw into the
top panel and adjust so that it nearly
touches the reset button.




	Page 1

